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4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
EE(75%1E) - 9.9 1.2(1.5) 5 63000
4K 7.7 10 1.8 2 2800
6H 7.7 9.8 1.1 8 30000
8H 7.4 9.2 0.9 8 240000
10A 7.6 8.3 15 7 80000
128 7.7 10 1.4 1 24000
2R 7.6 12 0.6 5 800
RBEIER
NP INESD E ANEivoL | #WmE HiKEB  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE#(E] 001LLTF | FE#HHE | 0.01LLF | 0.05LLF | 001LLTF | 0.0005LLF
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8H - - - - - - -
10A]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
>oank ... |1.2->Z00[1,1->saa|>X-1,2->50a(1,1,1-r)50
PCB 2y ekl IAY IFLY OTFLY OT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#E] ERH 1002LLTF | 0002LLTF | 0.004LLTF | 0.02LLTF | 0.04LLF 1LF
g <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
4 HJ <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
68l <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
8H - - - - - - -
10A]| <0.0005 [ <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
12A8] <0.0005 [ <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
28 - - - - - - -
1,1,2-ky4 [RUo0A(Fr5400I(1,3->9an — . —sen FARAH
AAT4Y | ITFLY | FLY Joxy | FU7A| YUY LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 LA 0.03LLF | 0.01LLF | 0.002LLF |0.006 L F[ 0.003LLF 0.02LLF
EH <0.0006 | <0.003 <0.001 <0.0002 <0.0006 <0.0003 <0.002
4 HJ <0.0006 | <0.003 <0.001 <0.0002 <0.0006 <0.0003 <0.002
68l <0.0006 | <0.003 <0.001 <0.0002 <0.0006 <0.0003 <0.002
8H - - - - - - -
10A]| <0.0006 [ <0.003 <0.001 <0.0002 <0.0006 <0.0003 <0.002
12A8] <0.0006 [ <0.003 <0.001 <0.0002 <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLTF [001LLF| 10BF 0.8LLF 1DF
Eiy <0.001 <0.001 1.5 0.1 <0.1
4H] <o0.001 <0.001 1.8 <0.1 <0.1
6A] <0.001 <0.001 0.81 0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 1.5 0.1 <0.1
12H] <0.001 <0.001 1.9 <0.1 <0.1
2R - - - - -
EDHIEE
Nonmn| TEX | 2@ @ | 2E® | soonus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 24 0.065 - <0.005 <0.001 <0.008
7y: 1 23 0.063 - <0005 <0001 <0008
6A| - 1.5 0.081 - <0005 <0001 <0.008
sA| - 1.7 0.044 - <0.005 - -
108 - 26 0.075 - <0005 <0001 <0008
128 - 2.9 0.083 - <0005 <0001 <0008
28] - 3.4 0.043 - <0005 - -
BiLH WIHERE | OB ; = i S
IT/=| kS cobD el > AE EXizER
(mg/D) | (mg/) (mg/1) (mg/1) (mg/1) () (4 S/cm)
EHE]  <0.02 43 3.1 0.04 - - 180
4H| <0.02 37 2.5 0.09 - - 170
68| <0.02 42 3.1 0.02 - - 180
8H - - 3.4 - - - 170
10H]| <0.02 49 3.6 0.02 - - 220
12H]| <0.02 42 3.4 0.02 - - 190
2R — - 2.3 — — — 170




